Parts Breakdown

Model CE-CN-0098-WG 49113




Parts Breakdown

Model CE-CN-0098-WG 49113

Item No. Description Position Item No. Description Position Item No. Description Position
AJ627 Left Legs for 49113 1 AJ645 Thermometer for 49113 19 AJ663 5/32" x 10mm Screw for 49113 38
AJ628  Right Legs for 49113 2 AJ646  Rigid Caster for 49113 20 AJ664 2"9"1"1‘33?“6 Nozzle Connector for 4
AJ629 Oven for 49113 8] AJ647 Caster with Brake for 49113 21 AJ665 Back Burner Bellows for 49113 40
AJ630 Ash Pan for 49113 4 AJ648 Pizza Shovel for 49113 22 AJ666 Ignition Wire for 49113 41
AJ631 Ash Support 1 for 49113 5 AJ649 Pizza Knife for 49113 23 AJ667 Main Value for 49113 42
AJ632 Ash Support 2 for 49113 6 AJ650 Pizza Brush for 49113 24 AJ668 Igniter for 49113 43
AJ633 Chimney for 49113 7 AJ651 Split Big Shovel for 49113 25 AJ669 Gas Hose for 49113 44
AJ634  Chimney Top for 49113 8 AJ652 S Hooks for 49113 26 AJe70  Combination of Regulatorand
Gas Hose for 49113
AJ635 Chimney Handle for 49113 9 AJ653 L Hooks 1 for 49113 27 AJ671 Electrode for 49113 46
AJ636 ggmey Decorative Plates for AJ654 L Hooks 2 for 49113 28 AJ672 T Shape Bumner for 49113 47
AJ637 Strength Bottom for 49113 11 AJ655 Ash Cover for 49113 29 AJ673 Knob Base for 49113 48
AJ638 Door for 49113 12 AC939 Pizza Stone Large for 49113 30 AJ674 Knob for 49113 49
Handle Installation Piece for . Accessories Gas System Pre-
AJ639 49113 13 AC941 Pizza Stone Small for 49113 31 AJ675 Assembly for 49113 50
AJ640 Door Handle for 49113 14 AJ658 1/4” Flat Washer for 49113 33 AJ676 Bellows Hook for 49113 51
AJ641T  Insulation Mat 1 for 49113 15 AJ659  1/4” Spring Washer for 49113 34 AJ677 g’f;f;ﬂasug s Covar WEkITE g
AJ642  Insulation Mat 2 for 49113 16 AJ660  1/4" Bolts for 49113 35 AJ678 '499"1'2'3” Pin Fixing Cover for 53
AJ643  Side Handle for 49113 17 AJ661  1/4”x15mm Screw for 49113 36 AJs7g  Bumer Protection Cover for 54

49113

AJ644 Thermometer Support for 49113 18 AJ662 1/4” x 35mm Screw for 49113 37 AJ680 Left Front Leg for 49113 55



